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33.7.2

32a (2 wp) > 33b (3 737)

Note: our 82110 invokes the principle of 7vm 770¥71— the requirement to take Wi which is to be redeemed and stand it up and assess it; if
27w ATy apply, then an animal of w1 which has died cannot be redeemed (cannot be “stood up”)
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I 2 mwn: similarities between nam »wTp and nan p1a VTR
a  Both: cannot have their nwyTp modified (e.g. from nan 12 to narn)
i But: mam »wTp can be dedicated as "9y wipn (value) and as oan (to onnd)
1 ~277 27 if he attaches narm »w7p to 71N "IN — meaningless declaration
(@) Source: v.1 ->pn which is already wTpn goes only to 'n
(b) Challenge: 5:7 127y ®navn: 2”771 that he attaches to either nam or v’ans !N — meaningless
(i) And: oin3 nIn which he attaches to either nam or n’an pTa — meaningless
(if) Implication: narm »w7p which are attached to o303 'nIn is a meaningul declaration
1. Block: proper inference = narm »wTp which are attached to 2”n1 is meaningful
2. Question: why not mention it?
3. Answer: Rin only listed those sources that cannot go to either of the options
(c) Challenge: from our NMwn — nar »w1p can have "%y w1pN (=1”n71) and 0PN (=0°1N2)
(i) Answer: both terms refer to 1”n713; either formula works
(ii) Challenge: we have an explicit Xn»»12 which allows for both 12”1725 "% and ©nIn — to BN — "7 XN2AYN
1. Question: k0 "7 did cite a verse (v. 1) to support his claim
a. Defense (8519): read verse in opposite manner — 0In %3 — even o'WTp can become 0N
b.  Challenge: X9y himself ruled that if someone is ©’ann an N9y to the w1pn, he has no financial li-
ability — only must wait for p1amn to appear in order for them to offer it (as n’>ya)
c.  Answer: verse is RNINOR — it’s essential purpose is to attach n%yn to o'NIN
i.  Challenge: it already states mw7p W1p — why the need for nIn %3 to extend nYyn?
ii. Response: same question could be asked about the need for v. 3 which, per »a7, extends
n2Yn to DYRI NRVN (V. 2, per 'R ", only refers to n1y)
iii. Rather: even though it is called DwTp WP, requires ;o2 to extend n»yn; same in our case
d. Revisiting ¥51¥'s ruling: if one is N9y W1pn for nan pTa — goes to o™Man
i.  Challenge: if someone is 21725 "% V7PN, may not slaughter without n»1a
ii. Answer: that is v"m (as proven from &2 — if he did slaugher, it is valid)
iii. Challenge: R0 rules that he violates 2 m»yn
iv. Answer: means that it would have been worthy of 2 m%yn — but is v"mn
b Both: if they die, are buried
i w7 if man p1a die, they may be redeemed
II N 7 vs. 9"aw1 - analysis of dispute w”1/0moN
a v 7% 1271 hold that both narm »w1p and 2”772 are bound by n>Iym nyn
b 572w 1121 hold that only 2”n7a »w1p are bound by nym nTnyn
¢ Agreement: v holds that only narm »1p are bound by n27ym nToyn
d  Agreement: if it was a D 5»1 before w1pn, N27wm nEYN do not apply
i Challenge (fo 577): our mwn — v™ says that if they were 1”071, they may be redeemed if they died
ii  Explanation: to»™, it is well-formulated — he must specify which of the two he allows w/o naym nmyn
1 But: to 9™, no need to mention 1”172 — that is the only one the 1317 would have required
2 Answer: " did not know the referent of 1329; he answered — if nam »v1p, we agree; if 2”072 '97p — may be n1:
e  Support for »”1(8n273): v. 4 refers to Pmin *Hva (v. 5 is nknv NnNa) and is followed by naym nTyn
i Note: v. 4 refers only to »12p DI, per NN 12°3p° XY TWR — meaning, may never be brought
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27 (per 571 ”7): explanation of each position
i 57wy v.6—»1 11 20 paapplies only to 2”n7a (where wnin play no role) - nmR excludes nam »o7p
ii 7z nmR excludes a n”ya from beforehand (1p’yn DN Y1)

1

But: according to "9, even that requires N27ym nTAYN — even MMM Maw — RWp

27 (per T 37): explanation of W™’s position

i v6: only those where 210 and 7 are meaningful categories (nam) — and nmr excludes 2”n1a

ii  challenge: verse should read y1% 210 1 - ®Wp

challenge: if »w7p die; if NN — must be buried; if D1 *Ypa — may be redeemed

i opor referent is narn "wIp, but 2”n73, in all cases, must be buried

ii ~ ®”7 in either case (narn or 2”n73) — if DN, must be buried; D *9ya — are redeemed

iii  Observation: »™ is refuted from the first clause (n"ya nam »w1p should be buried - require N37YM NTHYN)

1
2

Defense: mn *5v1 in that clause refers to 11p’yn ©n *5va — where all agree to no nyYmM nTAYN
Support: if they were n"pa after v1pn, v should disagree and require burial of narn »w1p
(a) Observation: 5™ is refuted from the first clause — that ' nn nam >w1p require burial (if 17p*Yn n”y1)
(b) Answer: he reads it as o Hya after v7pn
(i) Challenge: if so, ™ should disagree in the Xw’ (and require burial even for n”ya)

iv  Answer: Y"aw1 has an inverted version, based on another xnYan:

1
2
3

If they died: whether nnn or n”ya — they are buried

v”7. (re 2”n73) if oNIN — buried; if n"ya — redeemed

Note: this is then a challenge to 1Ny "

(a) Defense: these are 1p'yn Din Yy

Support: if they were n"pa after w1pn, v should disagree and require burial of narn »w1p

(a) Observation: 5™ is refuted from the first clause — that w™ should disagree about narm »p
(b) Answer: he has a version of the Xn»1 in which w™ explicitly does so

I Further discussions about 130 "1 and %"av7’s approaches

NPT 715 777 /1. according to 92w (13179, narn »w1p are not bound by N2y nYN), and we learned that nam »wp that
were NN may be redeemed (we established that as a case of j9Tpn Nk 101N DTP) 2> we redeem WP to feed to dogs

i Defense: this is a case where he went ahead and slaughtered it (»may be eaten by people) before 179

ii ~ Per: mnan’s opinion (contra n™) that if he slaughtered them, they may be redeemed (and eaten)

NP1 715 7707 “1. according to v, why are n'n'nn 2”071 buried?

i Answer: because they are fit for n29pn; per ®n>»11 — if NN are attached to 2”073, they are redeemed to nam
NI17785 K99 ’7. according to 11Ny 1 who establishes the cases in the Xn»12 as 11p*»n n”y3, to which all agree —-no y”nmnyn
i Challenge: 2:1 M1 — all »w7p that had a »12p oin before w1pn, once redeemed are complete PN

a

1

Meaning: liable for N1 and minn, may be sheared/worked, young and milk are n»1mmn, no 2vn for yin »omnw,
cannot generate NN and if they die — are redeemed
(a) And: a1 (per nm 17) identified the author as ™, who limts y”mnyn to narm »w7p but 13PN PN *Hya are
excluded via nmn
(b) However: nan maintain that even 17p’»yn n”ya require »"mnyn
Answer: "D'nan” here refers to Y »27 RN, who includes even 17p’»n n”y1 in requirement of Y”mnyn
(a) Challenge: then 11 should have identified the author as w™ and his disputants
(i) Answerl: 21 holds like Y"aw — that 1337 do not extend »”mnyn to nam »vTp
1. And: ®p>1 indicated that 179 ynn DR, then 112p’ 1nn oR — should be redeemed (if 211 NR 1WTPN DTP)
(ii) Answer2: 271 holds like 13m "3 — and he does read that 2:1 m7131 follows “mpvynm v™”
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